

A THEOREM FOR FOURIER COEFFICIENTS OF A FUNCTION OF CLASS L^p

A.K. GAUR

Department of Mathematics and Computer Science
 Duquesne University
 Pittsburgh, PA 15282

(Received September 19, 1989 and in revised form December 20, 1989)

Abstract: This paper deals with the Fourier coefficients of a function of class L^p . We give a necessary and sufficient condition for a function to be of class L^p for p greater than one.

Key Words and Phrases: Fourier coefficients, L^p class, and monotonically decreasing.
 1980 AMS SUBJECT CLASSIFICATION CODES 41 and 45

1. INTRODUCTION.

A function $f(x)$ is said to belong to the class $L(p, \alpha)$ if $\int_0^\pi |f(x)|^p (\sin x)^{\alpha p} dx < \infty$ [1].

If $f(x) \in L(p, \alpha)$, then we define $\|f\|_{p, \alpha} = \left\{ \int_0^\pi |f(x)|^p (\sin x)^{\alpha p} dx \right\}^{\frac{1}{p}}$.

Hardy [2] gave the following theorem concerning the Fourier coefficients of a function belonging to L^p class.

THEOREM 1.1: Let a_1, a_2, \dots be Fourier cosine coefficients of a function of class L^p , $p \geq 1$, and $s_n = \sum_{k=1}^n a_k$.

Then $\frac{s_1}{1}, \frac{s_2}{2}, \frac{s_3}{3}, \dots$ are also Fourier coefficients of a function of class L^p .

The converse of Theorem 1.1 is not necessarily true. But Siddiqui [3] proved the following theorem.

THEOREM 1.2: Let $f(x) \approx \sum_{n=1}^\infty a_n \cos nx$ with $a_n \downarrow 0$. Then a necessary and sufficient condition that

$\sum_{n=1}^\infty a_n \cos nx$ be the Fourier series of $f(x) \in L^p$ is that $\sum_{n=1}^\infty A_n \cos nx$ be the Fourier series of a function

belonging to L^p class, where $p > 1$ and $A_n = \frac{1}{n} \sum_{k=1}^n a_k$.

2. MAIN RESULT. The object of this paper is to weaken the hypothesis that $a_n \downarrow 0$ of Theorem 1.2 to a condition that $n^{-\beta} a_n$ should be monotonic for some non-negative integer β and also for weighted L^p spaces. In fact we have the following theorem.

THEOREM 2.1: Let $\{a_n\}$ be a positive null sequence such that $n^{-\beta} a_n$ is monotonically decreasing for some non-negative integer β . Suppose $f(x) \approx \sum_{n=1}^\infty a_n \cos nx$. Then a necessary and sufficient condition

that the series $\sum_{n=1}^{\infty} a_n \cos nx$ be the Fourier series of $f(x) \in L(p, \alpha)$ is that $\sum_{n=1}^{\infty} A_n \cos nx$ be the Fourier

series of a function belonging to $L(p, \alpha)$ class, where $1 \leq p < \infty$, $-1 < \alpha < p-1$ and $A_n = \frac{1}{n} \sum_{k=1}^n a_k$.

We shall require the following Lemmas for the proof of our theorem.

LEMMA 2.2 [1]: Let $f(x) \approx \sum_{n=1}^{\infty} a_n \cos nx$ where the a_n are positive and tend to zero and $n^{-\beta} a_n$ is

monotonically decreasing for some non-negative integer β . Then a necessary and sufficient condition

that $f(x) \in L(p, \alpha)$ is that $\sum_{n=1}^{\infty} n^{p-\alpha p-2} a_n^p < \infty$ where $1 \leq p < \infty$ and $-1 < \alpha < p-1$.

LEMMA 2.3: If $n^{-\beta} a_n$ for some non-negative integer β is monotonically decreasing, then

$$A_n = \frac{\frac{1}{n} \sum_{k=1}^n a_k}{n^{-\beta}}$$

is also monotonically decreasing.

Proof: Let $\beta=0$, then we have to show that

$$A_n = \frac{1}{n} \sum_{k=1}^n a_k \geq A_{n+1} = \frac{1}{n+1} \sum_{k=1}^{n+1} a_k,$$

or
$$(n+1) \sum_{k=1}^n a_k \geq n \sum_{k=1}^{n+1} a_k$$

or
$$n \sum_{k=1}^n a_k + \sum_{k=1}^n a_k \geq n \sum_{k=1}^n a_k + n a_{n+1},$$

or
$$n a_{n+1} \leq \sum_{k=1}^n a_k.$$

Since
$$\begin{aligned} a_{n+1} &\leq a_1, \\ a_{n+1} &\leq a_2, \\ &\vdots \\ &\vdots \\ a_{n+1} &\leq a_n, \end{aligned}$$

it follows that

$$n a_{n+1} \leq a_1 + a_2 + \dots + a_n,$$

or
$$n a_{n+1} \leq \sum_{k=1}^n a_k.$$

Thus

$$A_n \geq A_{n+1}.$$

Now let $\beta \geq 1$. Let $C_n = n^{-\beta} a_n$, then

$$\begin{aligned} A_n &= \frac{1}{n} \sum_{k=1}^n a_k \\ &= \frac{1}{n} \sum_{k=1}^n \frac{a_k}{k^\beta} k^\beta \\ &= n^{-(1+\beta)} \sum_{k=1}^n k^\beta C_k, \end{aligned}$$

and

$$\begin{aligned} A_{n+1} &= (n+1)^{-(1+\beta)} \sum_{k=1}^{n+1} k^\beta C_k \\ &= (n+1)^{-(1+\beta)} \left\{ \sum_{k=1}^n k^\beta C_k + (n+1)^\beta C_{n+1} \right\} \\ &= (n+1)^{-(1+\beta)} \sum_{k=1}^n k^\beta C_k + (n+1)^{-1} C_{n+1}. \end{aligned}$$

Now

$$\begin{aligned} A_n - A_{n+1} &= n^{-(1+\beta)} \sum_{k=1}^n k^\beta C_k - (n+1)^{-(1+\beta)} \sum_{k=1}^n k^\beta C_k - (n+1)^{-1} C_{n+1} \\ &= \{n^{-(1+\beta)} - (n+1)^{-(1+\beta)}\} \sum_{k=1}^n k^\beta C_k - (n+1)^{-1} C_{n+1} \end{aligned}$$

therefore

$$\begin{aligned} (n+1)(A_n - A_{n+1}) &= (n+1) \{n^{-(1+\beta)} - (n+1)^{-(1+\beta)}\} \times \sum_{k=1}^n k^\beta C_k - C_{n+1} \\ &\geq (n+1) \{n^{-(1+\beta)} - (n+1)^{-(1+\beta)}\} C_n \sum_{k=1}^n k^\beta - C_{n+1} \\ &\geq (n+1) \{n^{-(1+\beta)} - (n+1)^{-(1+\beta)}\} C_{n+1} \sum_{k=1}^n k^\beta - C_{n+1} \\ &= C_{n+1} \left[(n+1) \{n^{-(1+\beta)} - (n+1)^{-(1+\beta)}\} \sum_{k=1}^n k^\beta - 1 \right] \\ &= C_{n+1} \{ (n+1) \theta_n - 1 \}, \text{ where} \\ (n+1) \theta_n &= (n+1) \{n^{-(1+\beta)} - (n+1)^{-(1+\beta)}\} \sum_{k=1}^n k^\beta \\ &= \{ (n+1) n^{-(1+\beta)} - (n+1)(n+1)^{-(1+\beta)} \} \sum_{k=1}^n k^\beta \\ &= \{ (n+1) n^{-(1+\beta)} - (n+1)^{-\beta} \} \sum_{k=1}^n k^\beta \end{aligned}$$

$$\begin{aligned}
&= \{(n+1)n^{-1}n^{-\beta} - n^{-\beta}(1+\frac{1}{n})^{-\beta}\} \sum_{k=1}^n k^{\beta} \\
&= n^{-\beta} \{n(1+\frac{1}{n})n^{-1} - (1+\frac{1}{n})^{-\beta}\} \sum_{k=1}^n k^{\beta} \\
&= n^{-\beta} \{(1+\frac{1}{n}) - (1+\frac{1}{n})^{-\beta}\} \sum_{k=1}^n k^{\beta} \\
&= n^{-\beta} \{(1+\frac{1}{n}) - (1+\frac{1}{n})^{-\beta} + \frac{\beta(\beta-1)}{2} \cdot \frac{1}{n^2} \dots\} \times \sum_{k=1}^n k^{\beta} \\
&= n^{-\beta} \{\frac{1}{n} + \frac{\beta}{n} - \frac{\beta(\beta-1)}{2} \cdot \frac{1}{n^2} + \dots\} \sum_{k=1}^n k^{\beta}
\end{aligned}$$

Now by the following formula in [4],

$$\sum_{k=1}^n k^{\beta} = \frac{n^{\beta+1}}{\beta+1} + \frac{n^{\beta}}{2} + \frac{\beta \cdot n^{\beta-1}}{12} - \frac{\beta(\beta-1)(\beta-2)}{720} n^{\beta-3} + \dots$$

we have

$$\begin{aligned}
(n+1)\theta_n &= 1 + \frac{1}{2}\{(\beta+1) - \frac{\beta(\beta+1)}{\beta}\}n^{-1} + 0(n^{-2}) \\
&= 1 + \frac{(3\beta+1)}{(\beta+1)}n^{-1} + 0(n^{-2})
\end{aligned}$$

>1 for large n.

LEMMA 2.4: Let $\{a_n\}$ be a positive sequence which tends to zero. Let $\{n^{-\beta} a_n\}$ be monotonically decreasing for some non-negative integer β . Then the convergence of $\sum_{n=1}^{\infty} n^{p-\alpha p-2} A_n^p$ implies the convergence of the series

$$\sum_{n=1}^{\infty} n^{p-\alpha p-2} a_n^p,$$

where

$$A_n = \frac{1}{n} \sum_{k=1}^n a_k.$$

Proof: Since $\{n^{-\beta} a_n\}$ is a monotonically decreasing sequence, then it follows that

$$\begin{aligned}
A_n &= \frac{1}{n} \sum_{k=1}^n a_k = \frac{1}{n} \sum_{k=1}^n k^{-\beta} a_k k^{\beta} \\
&\geq \frac{1}{n} n^{-\beta} a_n \sum_{k=1}^n k^{\beta} = K a_n, \text{ for some } K
\end{aligned}$$

so that

$$\sum_{n=1}^{\infty} n^{p-\alpha p-2} a_n^p \leq K \sum_{k=1}^{\infty} n^{p-\alpha p-2} A_n^p < \infty$$

and hence the result follows.

Proof of the Theorem 2.1: The necessary part follows from Theorem B as a particular case.

Sufficiency. Since $\{A_n\}$ is a positive null sequence and due to Lemma 2.3, $\{n^{-\beta} A_n\}$ is monotonically decreasing for some non-negative integer β , it follows from Lemma 2.2 that if $\sum_{n=1}^{\infty} A_n \cos nx$ is the Fourier series of a function $F(x) \in L(p, \alpha)$, then $\sum_{n=1}^{\infty} n^{p-\alpha p-2} A_n^p < \infty$.

Applying Lemma 2.4, we have $\sum_{n=1}^{\infty} n^{p-\alpha p-2} a_n^p < \infty$.

Hence by Lemma 2.1, $f(x) \in L(p, \alpha)$, and consequently $\sum_{n=1}^{\infty} a_n \cos nx$ is the Fourier series of $f(x)$.

References

- [1] Askey, R. and Wainger, S.; "Integrability theorems for Fourier series", Duke Mathematical Journal, 33(1966) 223-228.
- [2] Hardy, G.H.; "Note on some points in integral calculus", Messenger of Mathematics, 58(1929) 50-52.
- [3] Siddiqui, A.H.; "A note on Hardy's theorem for the arithmetic means of Fourier coefficients", Mathematics student, 40(1972) 111-113.
- [4] Ryshik, I.M. and Grandslein, I.S.; "Tables of series, Products and Integrals" second (revised) edition. Plenum Press/New York.